Seat No.:

Subject code:320046
Date: 09 /07 /2010

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
From the following data find the Index Number by Laspayere,
Paache,and Fisher for the year 2008.
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Commodity 2000 2008

Price Qty Price Qty
A 3 30 10 50
B 4 25 14 35
C 8 15 20 20
D 10 10 25 14
E 12 8 30 10

From the following data find the coefficient of Skewness by the
method of KarlPearson.

Age Number of Male
0-10 15
10-20 17
20-30 19
30-40 27
40-50 19
50-60 13

Find the rank correlation from the following data:
X[{10 (11 (14|16 |13 |18 | 11|13
Y [ 5052 |58]56|52|52]53]|52

Find coefficient of correlation of correlation by Karl Pearsons

method.

X [23]28|26[32]25|27[30]35|38]36
Y [ 1922242821 |25]|24|32|36/|29
OR

Diffrentiate between sample survey and population survey.

Find the coefficient of quartile deviation from the following data.
xi |0 1 2 3 4 5 6 7 8 9
fi 4 6 10 |12 |14 |30 |10 |8 4 2

Find the mean deviation from the following data:

Class | 0-20 [20- |40- |60- |80- |100- |120- | 140-
40 60 80 100 | 120 | 140 | 160
f 2 5 10 25 30 15 8 5
OR

Write the merits and demerits of quartile deviation.

Find the standard deviation from the following data:

Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
f 2 4 10 20 12 7 5
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(1) If 2P(A)=3P(B)=5P(AnB)=1/2, then find P(AUB).
(i1) Find the probability of having 53 sundays in a leap year.
The probability of a person going abroad is 1/3 . The probability of
he becoming a doctor is 2. The probability of his becoming a doctor
and going abroad is "4, find the probability of he becoming doctor or
going abroad..

OR
A box has 5 Red and 3 Black balls. If two balls are randomly
selected find the probability of
(1) Both the balls are of different colour.
(i1) Both the balls are Red in colour
(ii1) Both the balls are of same colour.
Explain the following with the help of venn diagram.
(1) Union of Event (1) Intersection of Event

From the following data find the regression line of y on x .
n =25, ¥X=150,, XY= 125, ¥XY=500, XX’= 1000
Find the regression equation of Y on X from the following and value
of y when x=20.
Mean of x=18, Mean of y =100, S,=16, S, =18, r =0.8
OR
Write the characteristics of good sample.
Find the coefficient of correlation from the following data:
n=10, Y X=120, Yy=250, >(x-15)*=130, X(y-25)*=90, , X(x-15) (y-
25)= -40.

A3l HiRdl Gu &l 200¢ -l AN HIZ ARIYR, Wl 2 [BAR AL YAS 2115 211,
e 2000 2008
e o2l el o2
A 3 30 10 50
B 4 25 14 35
C 8 15 20 20
D 10 10 25 14
E 12 8 30 10
Al HlRdl W2 Rl A Busdis QL.
GHR v, u3nl ~l 2y
0-10 15
10-20 17
20-30 19
30-40 27
40-50 19
50-60 13
{2l Hledl Gur =l $His AeAoibls WAL
X(10|11 |14 16|13 |18 |11 |13
Y |[50|52|58|56(52|52]|53 |52
{2l {3l Gu ofl [RdAaAAl AsAoinls Akl
X (1231281263225 (27|30|35]38]36
Y|[19(22124 (2821 (25|24|32]36]29
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fi 4 6 10 |12 |14 |30 |10 |8 4 2

el qledl w2 w30 [Qudls k.
Class | 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

f 2 4 10 20 12 7 5
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Class | 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
f 2 4 10 20 12 7 5

(1) %\ 2P(A)=3P(B)=5P(ANB)=1/2, €la di P(AUB).
(i1) ) 25 eluarisn 537 (A 2iadldl Aeuasl gl
s AlBd yee 9 d-dl dewadr 1/3 9.d dsex oiddl d-dl Aetadl Y. .d
dser ot A uBA XY ddl Acladl Y49 | dld dldd usu wy YAl
dsex ot asdl Aeud-l by

AL

AUs UL UL S5 Al A 3 st eil B, axidl dex9 d ol sl ddl | 2d dl
(et edL el el du-l €ly, (if) ol edl die UL €1y, (iil) ol el 28
o 0L AL €l drfl AciarAL LAl

“{lael el «il vl Ul 2 d s 2usld gLl uHesal.

(1) 9oL el (i1)de ae-ll

{12l Méldl uR ol y L x .GuR ~il [Rud deis Ju AL
n =25, ¥X=150, , XY= 125, XXY=500, ¥ X*= 1000
(el Hildl Guz 2l il X=20 €la, A Y «ll 2aHisila Bud 26l
Heys x=18, weus y =100, Sy=16, Sy =18, r =0.8
YL

AL e AL @aRll ol

ol Hgldl uR el Aot kL.

n=10, Y X=120, Yy=250, >(x-15)*=130, X(y-25)*=90, , X(x-15) (y-
25)= -40.
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